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.     Inverse Normal Distribution    .
A population of starfish have mean diameter 84mm 
(standard deviation = 12mm) 
The top 5% are less than what diameter?
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Use the probability to find ‘z’ 












Use ‘z’ to find the value ‘x’
80% are heavier than what weight?


30% are lighter than what weight?

.     Inverse Normal: Steps    .
A population of snails have a mean weight of 54g (standard deviation of 8g)

(a) The heaviest 30% are over what weight?
Steps:

1) Draw a distribution curve.
2) Draw on where the % given would be.
3) What probability will be looked up in the table?
4) Look up probability to get ‘z’

5) x = (  ± z × (   The mean ± what amount? 

6) Is my answer sensible? (Remember units)

(a) 80% of snails will be over what weight?
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Looking up ‘z’ values
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